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R OBRIRATER LER & RIBEAFIAD 3 BLER

{EiMAE FB#E1~7 ; HCOH40ppb, B&ES; ML T 13012g/m 3
BIERE B&EI~7; HCOHSppb. BH8; ML 261g/m3

Bl - REAT L RBEROLLEL, VilcoxonDFF S INEALRE
BB BBROERKEIREMTHLEL, FriednanORE

1. BE# D>

75K 8 {EC T P (IR BRI

RERAT RREE MRET A MR PRE

BE 58 4 BEL 66 72 B#El 64 50
B 68 70 BEL 68 79 B#EL 6l 70
BE3 0 0 B#E3 0 0 BE3 0 0
B#E4 0 0 B#EL 0 0 B#EL 26 10
B#ES 5 0 BES 2 0 B#ES 0 5
BES 0 0 BES 0 0 B#EE 0 0
BET 9 6 BET 7 9 BET 1 10
B 0 0 BES 0 0 B#ES 0 0

| | 1 [ |
amaE  p0. 999| p=0. 19f p=0. 5(10
R ik p=0. 589
2. WHAOHHS

75+%R BIKRERE BIRERE

MREAT MRS MR MR REAT RER

Bl 58 74 BEL 66 71 BEL 64 50
B 68 70 BEL 9 79 BEL 6l 70
BE3 20 0 BEI 0 0 BE 0 0
B 0 0 BEL 0 0 B#EsL 26 10
BES 40 40 BE; 8 5 BEs T 0
BEG 0 0 BES 0 0 BES 0 0
BE 10 9 BET 8 7 BET 11 10
B 0 0 BES 0 0 B#ES 0 0

(I L I—
atiaig  p0. 995; p>0. 99|9 p=0. 225
MR % p=0. 847
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3. nhh

75K BEBERE KiRERE
REa RBBERX BEa BEX REN BER
B 0 0 BElL 0 12 BE1 0 0
BE? 0 0 BE2 0 0 B#2 0 0
BHE3 0 0 BEI 0 0 B#E3 0 0
BEd 0 0 BEL 0 0 B#L 0 0
BFD 0 0 BES 0 0 BES 0 0
BF6 0 0 BES 0 0 BEe 0 0
BET 11 11 BET 8 8 BET 26 40
B 0 0 BES 0 0 BES 0 0
L | [
AMane  EREEAAL EREL D72 < EREDRL
ﬁé’r%%?%ian“é‘ ﬁ%f#%ﬁ'ﬁ?%éln@‘ mrfé;ﬁ?%lanf
BB p=0. 867
4, ZThiEv
75tk BEBERE KIBERE
BEal BEL REdT BEL BREN RBER®
BHF 82 0 BHEl 84 12 B#El 85 0
B# 67 10 BE2 10 10 BE) 9 19
BH3 0 0 BEI 0 0 BEI 0 0
B 0 0 BEL 0 0 B#E4 0 0
BES 25 28 BE 8 3 B#ES 9 0
BE6 0 0 BES 0 0 BE6 0 0
B#ET 10 8 BHET 8 1 BET 12 50
B 0 0 BES 0 0 BES 0 0
L 1 R L |
amane p=0. 273I p=0.109 p>0. 99|9
T2 p=0.931
5. B - R0ORE
75%R BERERE KIBERE
BEa RBERL BEa BER REa BEL
B 87 81 BF 11 0 BEL 0 73
B 9 9 BE) 9 29 BE) 0 0
BH3 42 20 BEI 19 11 BmES 40 40
B 0 0 BEL 0 0 BEL 1T 9
8BS 29 50 BmE; 8 0 BES 40 14
B#6 3 2 BES 0 2 BEE 3 3
BET 19 50 BET 9 8 BET 18 60
B#ES 10 11 BES 13 10 BES 2 0
[ | 1 |
BRI p=0.83|4 p=0. 310 : p=0.686|
RS p=0. 202
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